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Graph the line with the equation: y :gx +1 on the grid above.



7.2 General Form

Objectives:

e Convert the equation of a line into general form.

Use the General Form to find x- and y-intercepts
Find the equation of horizontal and vertical lines

Slope Intercept form is just one way to write the equation of a line

The general form is when one
How could you convert an equation from slope intercept form to side of the equation equals 0.
General Form?
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The point where this crosses the x-axis is called the “x-intercept”. The point where this graph crosses
the y-axis is called the “y-intercept”

What is the x-intercept. What is the y-intercept?
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Sometimes it’s easier to sketch a graph using its intercepts:
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Special Cases _
Horizontal and Vertical Lines occur when one of the coefficients, Ax+By+C=0
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Rewrite the equation with the variable isolated on one side of
Complete the table and graph: the equation.
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What do you think the equation of a vertical line might look like? 'Xt_g
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The equation to represent the storage capacity of standard PVR is given as 8% + ¥ = 250 where x is
the number of hours of HD programming, and y represents the number of hours of regular
programming.

What is the x-intercept for this equation? % -
What does it represent? x = 250
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Math 10 Chapter 7

Equations Using Slope Intercept Form

Worksheet 1
1. Convert each equation into standard form:
2 3 1 1

a =—X+3 b =——X+2 c =—X—=

) ¥y=3 ) ¥y=-3 ) y=5X-3
d) y=-3x-1 e) y=2x-4 f) y=2x+5
2. Convert each equation into slope intercept form:
a) 3x+y-4=0 b) 2x—-y+3=0 c) x+y+1=0
d) 2x+3y-5=0 e) 3x-2y+1=0 f) x+2y-4=0
3. Determine the equation of each line with the given slope and coordinate. Give your answer in

both slope intercept format and standard form.

a) m=2; A2 b) m=1; P(-2,-3) c) m=3; Xx-intercept 5
d) m-2; BE3) Q) m=-2; Q) D mediyintercept -2
g) m= %; C(7,5) ") m=-2: R03) i) m=-1; x-intercept %
4. From each pair of coordinates, determine the equation of the line in slope intercept form.

A@2,4) ; B(5, 2) b) M(-1,3); N(2,1) c) 0(0,0);P(3,7)



7.3 Warm-Up
1.  Rewrite each equation in general form.

=2 =1
a)y—3x+1 b) y= 5x 3

2. Rewrite each equation in general form.

a)y—-3=2(x+5) b) y+2=4(x-1)
3. Simplify.
3 4
2| Z(x—4 5| = (x—1
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4. Visualize each of the following lines. Then, write the equation in slope-intercept form.

a) x-intercept of 4 and y-intercept of -5 b) passing through (0, 2) and (4, 0)

5. On grid paper, draw each line. Then, write the equation of the line in slope-intercept form.
a) passing through (2, 5) and (-1, —4) b) passing through (-3, 6) and (0, 0)



